LEVEL-4 ANSWER KEY

ANSWER: 1




ANSWER: 2
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ANSWER: 3

To produce a sine wave at the output,the controlsignals driving the mosfet drivers(IR2101) must be changed.
Currentlyit is running in fixed PWM mode.(Triangle with a single reference from potentiometer). 50% duty cycle

Change the control signal by applying a 50Hz sine wave A= 5Vpp < 8Vpp(TRI-wave) with offset=4V(Triangle has an
offset of 4V) to the comparators,Instead of the POT.

Also the triangle wave frequency must be increased from 50Hz to 5 — 10KHz.

Modified Circuit.

Sine wave ,F = 50Hz, A = 5Vpp

Triangle wave F = 5-10KHz,A = 8Vpp

Adda LC low passfilter at the load to getsine wave at the output.

L] JE Z= . Zs %]_q_
Ao LT} L
JE z= z= F]

LC low pass with cut off < 1KHz

Add sine wave f = 50Hz,offset= 4V
Increase triangle wave freq 5-10KHz
Add Ic low pass filter.




ANSWER: 4

X

Y

Transfer Chara

3V 400Hz 5in
Phase Shift=0

3V 400Hz 5in
Phase Shift=270

Wave 1:4V400Hz 5in,Phase Shift=0
Wave 2:1V 2 4KHz 5in,Phase Shift=180

Wave 1:4V400Hz 5in, Phasze shift=270
Wave 2:1V 2 4Khz 5in, Phase Shift=00

5V 400Hz 5in,Phase Shift=0

Wave 1:1.5V 800Hz 5in, Phase shift=180
Wave 2:3V 800Hz 5in, Phase shift=0

Ground

2V 800Hz 5in, Phase shift=0




The above wave forms are generated and multiplexed using 4051 mux at 200Hz
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